Thanks to browse .......

FORWARD Machinery Co., Ld.

Pneumatic Component
Hydraulic Component

3 YongHe Road,Industry Zone XiKou,FengHua,Zheliang,China 315502

Telephone +86 574 8856 6988
+86 574 8884 8789
Fax +86 574 8856 6899
E-mail sales@forwardmachinery.com

TiK ZFRENMARA A
SHTH
ETTH

hE T FH ZOETVEXKFE3S 315502

Mg +86 574 8856 6988
+86 574 8884 8789
(=1 +86 574 8856 6899

E-mail sales@forwardmachinery.com

Welcome to FORWARD




&R S E Compact cylinder / SDA,SSA,STA FHMC(D &R S H Compact cylinder / SDA,SSA,STA FORWARD

e o .
SRAB Type codes (WIS ...I ”'b HASH Technical data

FEH A SH General technical data

4% Bore (mm) o 12 |16 |20 |25 |3 |40 |50 |63 |8 | 100
THNR ZNBNERESS, WBIARIDE

Medium Filtered compressed air,lubricated or unlubricated

EFER S

Action Form Double Action

ERRHI BEh5I AL
Single acting—push type

RIEM E 1 15 bar
Pressure
ERENEE g 1~9 bar
Operating Pressure | Double acting
Lk 2~9 bar
Single acting
ZHER [DapE
Cushion type Bumper
R E —-5~70° C
Condition Temperature
EREE i 30-500mm/s 30-350mm/s 30-250mm/s
Operation Speed Double acting
| SDA |- S |-|20 |-| 40 |- pahm 100-500mm/s -
Single acting
FEERS M5x%0.8 1/8” 1/4” 3/8”
Connection
SDA £ 5% Double-acting
SSA B YA Single acting—push type
STA #33| N2 Single acting-pull type
S 4/ With magnet
AHH#EA Without magnet
RIRLY Female thread
SMEL Male thread
N J&ZF No thread
=
www.famcocorp.com
@Tel:oﬂ-r— Aecooo 19 (éﬁwgminogl?)lsﬁud* ol)S)ju Pl JioglsS « yl,g3

Pneumatic component 101-102 Compact cylinder

@ E-mail: info@famcocorp.com

| () Fax:er) - EFaqESEP P SW eyl s o8 (59549,
@famco_group



FARS# Technical data HASH Technical data

% RS Compact cylinder / SDA,SSA,STA FHMC(D % EBSE Compact cylinder / SDA,SSA,STA
oo . h

@ 12~16 4172 Boretnm) @ SDA SDAS N1 N2
AR A B c A B C D E|F |k LM [s=5 [s55 [s=5 |55
B C+AT R 12 22 5 17 32 5 27 - 6 |4 |M3x0.5 |10.2]2.8 (63 6.3
S P3 P3 16 24 55 185 34 55 285 - 6 |4 [M3x05 |11 |287.3 7.3
T1 P4 P4
20 25 55 19.5 35 5.5 29.5 36 |8 |4 |Max07 |15 |28 [7.5 7.3
E
M = 11 5 27 6 21 37 6 31 42 (10 |4 |M5%x08 |17 2.8 8 8
32 31.5 7 24.5 41.5 7 345 50 |12 |4 |[Mex1.0 |22 |2.8 |9 9
#%J - - 40 33 7 26 43 7 36 58.5 [12 [ 4 |M8x1.25 [28 |2.8 |10 10
[se]
> Zl 50 37 9 28 47 9 38 71.5 [15 [ 5 |M10x1.5 (38 |[2.8 [10.5 10.5
KI%E /69 \Z
W 63 41 9 32 51 9 42 845 [15 [ 5 |M10x1.5 (40 |[2.8 95 |12 |95 |11
2Pl 20 Ni Ni 80 52 11 4 62 11 51 104 |20 |6 |M14x15 |45 |4 [11.5[145|115]|145
100 63 12 51 73 12 61 124 |20 |7 |M18x1.5 |55 |4 |16 |205|16 |[20.5
20~100 g
2 &% Bore(mm) @ N3 |0 Pl P3 (P4 |R IS 11 |T2 |v |w |v
5 A+irEE 12 6 | M5x0.8 | P, @6.59FM5x0.8, EILG4.2 12045 |- |25 |1e2|23 |6 |5 |-
B C+17He
S R = P3 P3 16 6.5 | M5x0.8 | P, @6.5825FM5% 0.8, iEFL 94.2 12|45 |- |29 |198]28 |6 |5 |-
TL M P4 P4 3
|P4_ P4 20 - M5x 0.8 | F{l. D6.5825FM5% 0.8, B 24.2 14045 |2 |34 |24 |- |8 |6 |10
25 - M5x0.8 | F{l. @8.2\RFM6x 1.0, BFL 4.6 15|55 |2 |40 |28 |- |10 |8 |10
32 - 1/8 . @8.242FM6x 1.0, ®F 4.6 16|55 [6 |44 |34 - |12 |10 [15
40 - 1/8 M. @10MRFM8x 1.25, BFL26.5 20 (75 |65 |52 |40 |- |16 | 14 |16
» = = L 9 <G2 50 - 1/4 . @11BFM8X 1.25, BIL26.5 25087 |95 |62 |48 |- |20 |17 |20
Q ]
63 - 1/4 . @112FM8x1.25, BFL26.5 25087 (95|75 |60 |- |20 |17 |20
80 - 3/8 . D14825FM12x1.75, BFL@9.2 25 [105[10 (94 |74 |- |25 |22 |26
W
- - 100 - 3/8 . ©17.58FM14%2.0, BIL211.3 30 [13 |10 |114f90 |- |32 |27 |26
2-0
N1 N2
4n2F R~F Male thread %172 Bore(mm) @ | B E [F|G [H |J [K L M W
12 17 |16|4 |1 |10|4 |M5%0.8 |10.2 |28 |5
B (B+fhalyi i frfl) B+Pull type stroke
|: E (E+MahfEi#TB)  E+Pull type stroke 16 1751164 |1.5|10|4 | M5x0.8 11 2.8 |5
FF+MARHITE) FrPull type stroke 20 205(19]4]1.5/13]5 |Mex10 |15 |28 |6
H =
=g I-F 25 23 |21|4al2 |15]6 |M8x1.25 |17 |28 |8
— 32 25 22143 [15]6 [Miox1.25|22 2.8 |10
| S|
b .| 40 3% |32 |4]3 |25]8 |M14x15 |28 |28 |14
7 A ©
;Et‘- =1 50 37 |33 |5]4 |25|11|Mi8x15 |38 |28 |17
. EE— |
Wit = i 63 37 |33 (5|4 |25|11|Mi8x15 |40 |28 |17
2-Sides ﬁmﬁl _,r 80 44 1396 |5 |30]13|Me2x15 |45 |4 |22
.= 100 50 [45(7 |5 |35|13|Meex15 |55 |4 |27
E)www.famcocorp.com P
- (* Tel:ioPI-FF Ao ooo 9 (CJS uegaio 6als) ‘SJS_I.tIJ al_,i_u',- ]"lJ-'n'ﬂgJ.:S cobgs

) E-mail: info@famcocorp.com

C a5 oSy
() Fax:or) - FrEaqEsEY P SUy by cuds 08 UL (§95-49) 103-104_Compact cy

) @famco_group



L& RIS Compact cylinder / SDA,SSA,STA

FARS# Technical data

L& RIS Compact cylinder / SDA,SSA,STA

HARSH Technical data

FAMCO
Cnuopuls

@ 12~16 ?12~16
A+HITRL A+HTFEX 2
B C+TH B+17 74 CH+A7 7
S P3 P3
T1 P4 P4l
. (777277777, 77272 FeirE
M I Il M —
7
DN ] “ 2 g
2\
ke A = /69 @
e v / w
2-P1 X 2-0 N1
/ \/ 20 N1
@ 20~100 @20~100
b AT A+1FE 2
" N B CHiTHE D B+ CHifEE
F P3 P3 S R it P3 P3
T M P P4 LS M P4 P4
> F| » SRS - - Qﬁ -l 2| » 2 = E <37
w B B w
2-0 N1 N1 2-0
4-P1 KIKE
SSA SSAS STA STAS
{iI4% Bore(mm) @ A ¢ A ¢ #I4% Bore(mm) @ A ¢ A ¢
s<10 [s>10 |B S<10 |s>10 [S<10 |s>10 [B s<10 |s>10 [0 |[E |F [k Lo m s<10 |5>10 B |s<l0 [s>10 |S<l0 |S>10 B |s<io [s>10 [p |E [F [K Lo |m
12 32 42 5 27 37 42 52 5 37 47 - |6 |4 |m3x05 |102]28 12 32 42 50 |27 37 42 52 5 |37 47 - |6 |4 |m3x05 |102]28
16 34 44 5.5 85 |385 |44 54 5.5 385 |485 |- |6 |4 [m3x05 [11 |28 16 34 44 55 |285 [385 |44 54 55 |385 |485 |- |6 |4 |M3x05 |11 |2.8
20 35 45 5.5 295 |395 |45 55 5.5 395|495 (36 [8 |4 |Max07 |15 |28 20 35 45 55 |295 [395 |45 55 55 395 |495 |36 [8 |4 |Max07 |15 |2.8
25 37 47 6 31 41 47 67 6 41 51 42 [10|4 [M5x0.8 |17 |28 2 37 47 6 |31 41 47 67 6 |4 51 42 |10]4 |M5x0.8 |17 |28
32 M5 515 |7 345 |445 |515 |615 |7 445 |545 |50 [12]4 [Mex1.0 |22 |28 ) 415 |51.5 7 |345 |445 |515 |61 7 |4a5  |s45 |50 |12|4 [Mex1.0 |22 |28
40 43 53 7 3 46 53 63 7 46 56 585 |12 |4 |MBx1.25|28 |2.8 40 43 53 7 |3 46 53 63 7 |46 56 58.5|12 |4 [M8x1.25|28 [2.8
142 Bore(mm) @ N1 (N3 |o P1 P3 (P4 [R |S [T1 |72V |W |Y #I/% Bore(mm) @ N1 N3 | o P1 P3 (P4 | R |S [T |T2fvV |u [Y
12 636 |M5x0.8 | A @6.5UBFM5%0.8, BIL 4.2 12|45 |- |25|16.2(23 |6 |5 |- 12 63 | 6 M5x 0.8 B ©6.582FM5% 0.8, T, 04.2 12|45] - |25 (16223 |6 [5 |-
16 73] 65| M5x 0.8 | Al @6.5ZFM5X 0.8, EFL 4.2 12|45 |- [29|198(28 16 |5 |- 16 73 | 65 | M5x0.8 B ©6.5825 M5 % 0.8, 1T, 04.2 12|45] - |29 |198[ 28 |6 |5 |-
20 75— | M5x0.8| . @6.5UZFM5%0.8, EILD4.2 14452 (34|24 |- |8 |6 |10 20 75 | - | M5x08 . D6.525FM5% 0.8, EIL 04.2 14|45] 2 | 34|24 |- |8 |6 |10
25 8 |- |M5x0.8|FM. @8.2MBFM6x 1.0, B 246 15|55 |2 [40|28 |- |10|8 |10 25 8 - | m5x08 AN ©8.2BFM6x 1.0, EBIL 246 15|55[2 |40 |28 |- | 10]8 |10
32 9 |- |18 B @8.2MR5FM6x 1.0, FBIL24.6 16|55 |6 [44[34 |- [12|10] 15 32 9 - 18 AN ©8.28BFM6x 1.0, EBIL 046 16 |55( 6 | 443 |- | 12]10 |15
— " o TEO o MMRTTMA g on ET s chTr oo n i " " . D10MREFMBX 1.25, BFLD6.5 20 | 75| 6.5 52 |40 | - | 16|14 |16
Cowww.famcocorp.com

(9 Telierl-F Aoooo F 9 (255 Uegsaio 6312) 5 ySuid 01381 V) sioglsS « lygs

@ E-mail: info@famcocorp.com

) Fax:er) - FEAqEsEP IS ¢ by cuds o uduUL (59529

@famco_group



L& RIS Compact cylinder / SDA,SSA,STA

FARS# Technical data

L& RIS Compact cylinder / SDA,SSA,STA

HARSH Technical data

SDA SSA SDAD,SDADS ifii& ZE4F Through piston rod 3 12-16 @20-100
A+ITFEX2
A+ITRIX2 C+irfE B+ATFE
CHiie Brirh Pt
1 2 3 4 5 6 10 1 10 M
A/ =
F+{7 ’+ _ E _ *{
= = o
SDAD SDADS
#I72 Bore(mm) @
A B C A B C F v L M
12 27 5 17 37 5 27 4 6 102 |28
16 29.5 5.5 18.5 39.5 5.5 28.5 4 6 11 2.8
S 20 30.5 5.5 19.5 40.5 5.5 29.5 4 8 15 2.8
25 33 6 21 43 6 31 4 10 17 2.8
12 211 45 7 6 8 10 32 34.5 7 24.5 48.5 7 34.5 4 12 22 2.8
N W ‘\ /> 40 40 7 26 50 7 36 4 16 28 2.8
! \ 50 46 9 28 56 9 38 5 20 38 2.8
63 50 9 32 60 9 42 5 20 40 2.8
80 63 11 41 73 11 51 6 25 45 4
n — 100 75 12 51 85 12 61 7 32 55 4
{418
SDAJ,SDAJS 1T#2HiAZ! Adjustable stroke type ?12-16 @ 20— 100
% A+ATREX 2+ 0] AT R
C+i7He A QAT AT ]
AT X 2+ AT AT R
C+irfE i Q+ullliTF 3
i==
FS NO ZFR ltem FS NO. | &%R ltem FS NO ZFR ltem = | -
= ; 2z - -H==F 1 - —q><
1 J&3% Back cover 6 Afk Body 11 ¥ Spring - ?I: - R HZE‘ L @ @
2 CE4$n3K C clip 7 g F Bumper 12 i A8 Silencer @ @ I ) (0 et
3 BI/52 0% @ Cover gasket 8 B Z= % £ Rod packing — —
4 & Piston 9 B Front cover
; SDAJ SDAJS
5 TEZE ORI Piston O-ring 10 iHZEHF Rod 4172 Bore(mm) @
A C A C Q J L v
12 40 17 50 27 13 4 102 | 6
16 42.5 185 52.5 28.5 13 4 11 6
20 47.5 19.5 57.5 29.5 16 5 15 8
25 55 21 65 31 19 6 17 10
32 61.5 24.5 71.5 34.5 21 6 22 12
40 65 26 75 36 21 8 28 16
50 73 28 83 38 21 11 38 20
63 77 32 87 42 21 11 40 20
80 94 41 104 51 24 13 45 25
100 105 51 115 61 24 13 55 32

www.famcocorp.com

@3 E-mail: info@famcocorp.com

(=) @famco group

(9 Tel:oPl-F Ao oo o K 9

(E) Fax:eP) - FEAqESEP

(255 Uograro 0312) (5,500 o)S) ju Pl jioghsS « ojlg5

P S s cuds oBuiuUL (59,29

107-108  Compact cylinder



	FORWARD Catalogue 2011
	Product Content
	Pneumatic Component
	Cylinder
	ODNC/ISO15552 Standard cylinder
	SU Standard cylinder
	DSNU/ISO6432 MINI cylinder stainless steel
	MAL MINI cylinder aluminum barrel
	SDA Compact cylinder






